
Accel Frontline Sample Paper 
 

1. A man spends 1/3rd of his salary on food. he spends 1/4th on rent and 1/5th on                 
cloths. If he is left with 1760, then how much salary does he earn ? 
A. 1760 
B. 8123 
C. 7632 
D. 8425 
Explanation: 
let total salary be x 
According to the question,  
=> x = (x/3)+(x/4)+(x/5)+ 1760  
=> x - 47x/60 = 1760  
=> 13x/60 = 1760  
=> x = 1760*60/13  
=> x = 8123(approx.).  
 
2. The numbers 272738 and 232342, when divided by n, a two-digit number, leave             
a remainder of 13 and 17 respectively. Find the sum of the digits of n? 
A. 7 
B. 8 
C. 5 
D. 4 
Explanation: 
From the given information, (272738 - 13232342 - 17) are exactly divisible by that              
two-digit number.  
We have to find the HCF of the given numbers 272725, 232325.  
HCF = 25.  
So sum of the digits = 7.  
 
3. There are 5 boxes in a cargo. The weight of the 1st box is 200 KG, the weight of                   
the 2nd box is 20% higher than the third box, whose weight is 25% higher than the 1st                  
box weight. The 4th box which weighs 350 KG is 30% lighter than the 5th box. Find the                  
difference in average weight of the 4 heaviest boxes and the four lightest boxes. 
A. 150 
B. 75 
C. 90 
D. 85 
Explanation: 
weight of 1st box=200 
weight of 3rd box= (125/100) *200=250  
weight of 2nd box= (120/100) *250=300  
weight of 4th box =350  
weight of 5th box= (10/7) *350=500  
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average of 4 highest weighted boxes=(500+350+300+250)/4=350  
average of 4 lightest boxes=(350+300+250+200)/4=275  
therefore difference=350-275=75  
 
4. In a vessel, there are 10 liters of alcohol. An operation is defined as taking out                
five liters of what is present in the vessel and adding 10 liters of pure water to it. What                   
is the ratio of alcohol to water after two operations? 
A. 1: 5 
B. 2: 3 
C. 1: 6 
D. 3: 2 
Explanation: 
Final concentration = Initial concentration (1−replacement quantity/final volume) 
Final concentration = =1× (1−10/15) =1/3.  
Final concentration = 13× (1−10/20) =1/6.  
So ratio of alcohol: water = 1: 5  
 
5. The letters in the word ADOPTS are permuted in all possible ways and             
arranged in alphabetical order then find the word at position 42 in the permuted              
alphabetical order? 
A. AOTDSP 
B. AOTPDS 
C. AOTDPS 
D. AOSTPD 
Explanation: 
 
In alphabetical order: A D O P S T  
A _ _ _ _ _: the places filled in 5! ways = 120, But we need a rank less than 120. So the                        
word starts with A. 
A D _ _ _ _: empty places can be filled in 4! =24  
A O _ _ _ _: the places filled with 4! ways = 24. If we add 24 + 24 this total crosses 42.                        
So We should not consider all the words starting with AO.  
A O D _ _ _: 3! = 6  
A O P _ _ _: 3! =6  
Till this 36 words are obtained; we need the 42nd word.  
AOS _ _ _: 3! = 6  
Exactly we are getting the sum 42. So last 3 letters in the descending order are TPD.  
So given word is AOSTPD.  
 
6. A farmer has a rose garden. Every day he picks either 7,6,24 or 23 roses. When                
he plucks these number of flowers the next day 37, 36, 9 or 18 new flowers bloom. On                  
Monday he counts 189 roses. If he continues on his plan each day, after some days                
what can be the number of roses left behind? (Hint: Consider number of roses              
remaining every day) 
A. 7 
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B. 4 
C. 30 
D. 37 
Explanation: 
Let us consider the case of 23. when he picks up 23 roses the next day there will be 18                    
new, so in this case., 5 flowers will be less every day. So when he counts 189, the next                   
day 184, 179,174,169, ................ 
Finally the no. of roses left behind will be 4.  
 
7. A man is known to speak truth 3 out of 4 times. He throws die and reports that                  
it is a 6. The probability that it is actually a 6 is 
A. 5/8 
B. 3/4 
C. 3/8 
D. 1/8 
Explanation: 
If 6 actually appeared, he can report it with the probability of 3/4. 
If 6 has not appeared, still he can report it wrongly with the probability of 1/4.  
So the probability that it is actually a 6 = (Probability to appear 6 x His truthfulness to                  
report + Probability to appear any other number x His lying probability) = 1/6 × 3/4 + 5/6                  
× 1/4 = 1/3.  
The probability that it is actually 6 = Probability that he reports 6/ Total probability to                
appear 6= [3/4 × 1/6]/ [3/4 × 1/6 + 1/4 × 5/6 = 3/8.  
 
8. George and Mark can paint 720 boxes in 20 days. Mark and Harry in 24 days                
and Harry and George in 15 days. George works for 4 days, Mark for 8 days and Harry                  
for 8 days. The total number of boxes painted by them is 
A. 348 
B. 350 
C. 324 
D. 355 
Explanation: 
 
Capacity of G + M = 720 / 20 = 36  
M + H = 720 / 24 = 30  
H + G = 720 / 15 = 48  
Combined capacity = 2 (G + H + M) = 114  
G + H + M = 114 / 2 = 57  
Now capacity of G = (G+H+M) - (H + M) = 57 - 30 = 27  
M = (G + H + M) - (H + G) = 57 - 48 = 9  
H = (G + H + M) - (G + M) = 57 - 36 = 21  
Given that G worked for 4 days, and mark for 8 and harry for 8 days.  
So total work by them = 4 x 27 + 8 x 9 + 8 x 21 = 348.  
 

www.st
ud

en
tsc

irc
les

.co
m

https://www.freshersnow.com/


9. In how many different ways can the letters of the word "LEADING" be arranged              
in such a way that the vowels always come together. 
A. 360 
B. 720 
C. 480 
D. 5040 
Explanation: 
Given letters are A, E, I, D, L, N, G. 
Of which AEI are vowels. Let us combine them into a single letter x. Now total letters                 
are x, D, L, N, G  
These letter are arranged in 5! ways. But 3 vowels can arrange themselves in 3! ways.  
So total ways 5! x 3! = 720.  
 
10. Two decks of cards are there. Each deck contains 20 cards, with numbers from              
1 to 20 written on them. A card is drawn of random from each deck, getting the                 
numbers x and y What is the probability that log x + log y is a positive integer. Logs are                    
taken to the base 10. 
A. 3/200 
B. 29/200 
C. 7/400 
D. 1/50 
Explanation: 
 
Log x + log y = log(xy)  
log xy is integer when (x,y) = (1, 10), (10, 1), (10, 10), (5, 20), (20, 5), (2, 5), (5, 2)  
So required probability = 7/400.  
 
11. In how many ways a team of 11 must be selected a team 5 men and 11 women                  
such that the team must comprise of not more than 3 men. 
A. 1565 
B. 2256 
C. 2456 
D. 1243 
Explanation: 
Maximum 3 men can be played which means there can be 0, 1, 2, 3 men in the team. 
(5C0×11C11) + (5C1×11C10) + (5C2×11C9) + (5C3×11C8) = 2256.  
 
12. If the price of an item is decreased by 10% and then increased by 10%, the net                 
effect on the price of the item is 
A. A decrease of 99% 
B. No change 
C. A decrease of 1% 
D. An increase of 1% 
Explanation: 
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Initially assume 100 rupees.  
10% discount in 100 gives price of 90 rupees  
then 10% raise in 90 is only 9 rupees.  
therefore, total price = 99 rupees.  
hence 1% is the loss.  
 
13. In a horticulture assignment, 200 seeds were planted in plot 1 and 300 were              
planted in plot 2. If 57% of the seeds are germinated for plot 1 and 42% from plot 2,                   
what percentage of total seeds germinated? 
A. 45.5 
B. 46.5 
C. 48 
D. 49.5 
Explanation: 
Given,  
In Plot 1: 57% Of 200 = 114 seeds germinated  
In Plot 2: 42% of 300 = 126 seed germinated  
Total seed germinated 240 out of 500.  
So, the required percentage is (240/500) * 100 i.e. 48%. 
 
14. Joke is faster than Paul, Joke and Paul each walk 24 KM. The sum of their                
speed is 7 Km per hour. And the sum of times taken by them is 14 hours. Then, Joke                   
speed is 
A. 3 KM/Hr.  
B. 4 KM/Hr.  
C. 5 KM/Hr.  
D. 7 KM/Hr.  
Explanation: 
Speed = Distance/ Time. 
Let the speed of joke x then speed of Paul will be 7-x 
=> 24/x + 24/(7−x) = 14. 
Try to put the values from the options. If Joke speed is 4, the Paul is 3. 
 
15. Kelly and Chris are moving into a new city. Both of them love books and thus                
packed several boxes with books. If Chris packed 60% of the total number of boxes,               
what was the ratio of the number of boxes Kelly packed to the number of boxes Chris                 
packed? 
A. 3:2 
B. 2:3 
C. 1:3 
D. 3:4 
Explanation: 
If x is total number of boxes, then  
Chris packed 60% of x = 3x/5 
Kelly packed 40% of x = 2x/5 
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Ratio of no. of boxes Kelly packed to Chris is given by = 2x/5: 3x/5 i.e. 2: 3. 
 
16. If the numerator of a fraction is increased by 25% and denominator decreased             
by 20%, the new value is 5/4. What is the original value?  
A. 3/5 
B. 4/5 
C. 7/8 
D. 3/7 
Explanation: 
Let numerator is x and denominator is y. 
If we increase x by 25% then it will be 125x /100 and if we decrease y by 20% then value                     
will be 80y /100. then the new value is 125x /80y = 5/4 or x/y = 4/5. 
 
17. A train can travel 50% faster than car. Both start from point A and reach point                
B 75 km away from A at the same time. On the way, however, the train lost about 12.5                   
minutes while shopping at the stations. The speed of car is? 
A. 125 km/hr. 
B. 120 km/hr. 
C. 130 km/hr. 
D. 140 km/hr. 
Explanation: 
Let speed of the car be x km/hr. 
Speed of the train is (150/100) *x = 3/2*x km/hr. 
so, 
=> 75/x - 75/ (3/2) *x = 125/ (10*60) 
Solving we get  
=> x = 120 km/hr. 
So speed of the car is 120 km/hr. 
 
18. One day Eisha started 30 min late from home and reached her office 50 min               
late while driving 25% slower than her usual speed. How much time in min does Eisha                
usually take to reach her office from home? 
A. 50 min 
B. 60 min 
C. 45 min  
D. 30 min  
Explanation: 
We know that Speed is inversely proportional to time. 
While she drives 25% slower means she drove at (3/4) s. 
We know that D = S x T. 
When speed became (3/4) s then Time taken should be (4/3) T. 
i.e., She has taken (4/3) T - T extra to cover the distance.  
Extra Time = T/3 = 20 min (as 20 min late due to slow driving). 
Actual time T = 60 Minutes. 
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19. If the numerator of a fraction increases by 50% & subtracted by 1. The result is                
1/4th of the original fraction. Find the fraction. 
A. 5/4 
B. 4/5 
C. 3/5 
D. 4/3 
Explanation: 
Let the fraction be x/1 (this is the simplest case, where numerator is 'x' & denominator                
is '1') 
Now, 
=> x*(150/100)-1 = x*1/4 
=> (3*x/2) - (x/4) = 1 
By solving, we get x=4/5. 
So the fraction is 4/5. 
 
20. The sides of a triangular are in the ratio of 1/2: 1/3 : 1/4. If the perimeter is 52                   
cm. The length of the smallest side is  
A. 9 cm 
B. 10 cm 
C. 16 cm 
D. 24 cm 
E. 12 cm 
Explanation: 
Given, 
Ratio of 3 sides is 1/2:1/3:1/4.  
On solving these we get the ratio as 6:4:3 
So, the smallest side is= (3/13) *52 = 12. 
 
21. A merchant buys 20 kg of wheat of Rs.30 per kg and 40 kg wheat at Rs.25 per                  
kg. He mixed them and sells one third of the mixture at Rs.26 per kg. The price at which                   
the merchant should sell the remaining mixture, so that he may earn a profit of 25 % in                  
his whole outlay is 
A. Rs 30 
B. Rs 36  
C. Rs 40 
D. Rs 37 
Explanation: 
Cost price of all the wheat= (20*30) +(40*25) =1600. 
If he makes 25% profit, then total selling price=1600*5/4=2000. 
 
total mixture of wheat is 60 kg. one third of which is 20 kg. 
now selling price of 20 kg of wheat=20*26=520 
 
So 40 kg of wheat = (2000-520)/40=37. 
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22. The average temperature of Tuesday Wednesday and Thursday was 37 C. The            
average temperature of Wednesday and Thursday and Friday was 38 C. if the             
temperature on Friday was 39 C. Find the temperature on Tuesday. 
A. 37.33 
B. 38.33 
C. 36 
D. None of the above 
Explanation: 
(Tues + Wed + Thurs)/3=37 
Tues + Wed + Thurs=111 ...............(1) 
(Wed + Thurs + Fri)/3=38 
(Wed + Thurs + Fri) =114 ...............(2) 
Given, Friday is 39. 
On subtracting eq(1) from eq(2) i.e 
=> Fri - Tues = 3 
So, 39 - Tues = 3. 
Tuesday =36. 
 
23. An old man and a young man are working together in an office and staying               
together in a nearby apartment. The old man takes 30 minutes and the young 20               
minutes to walk from apartment to office. If one day the old man started at 10.00 AM                 
and the young man at 10:05AM from the apartment to office, when will they meet? 
A. 10:15 
B. 10:30 
C. 10:45 
D. 10:00 
Explanation: 
Let the distance be 12 km.  
So the old man speed = 12 km/ (1/2) hr. = 24 kmph. 
The young man speed = 12 km/ (1/3) hr. = 36 kmph 
As the old man started 5 minutes earlier, he covers 24 × (5/60) = 2 km in 5 minutes. 
Now the time taken to the young man to meets him = [ 2/ (36−24)] × 60= 10 min. 
So the time at which young man meet the old man = 10.05 + 10 = 10. 15 min. 
 
24. A car manufacturer produces only red and blue TCS Models which come out of              
the final testing area at random. What are the odds that five consecutive cars of same                
color will come through the test area at any one time? 
A. 1/16 
B. 1/125  
C. 1/32  
D. 1/25 
Explanation: 
p (5 consecutive cars of same color) = p (5 red) + p (5 blue). 
=>1/25+1/25. 
=> 1/16. 
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25. There are two bags. One bag contains 4 white and 2 black balls. Second bad               
contains 5 white and 4 black balls. 2 balls are transferred from first bag to second bag.                 
Then one ball is taken from the second bag. The probability that the ball is white is? 
A. 42⁄33 
B. 5⁄16 
C. 48⁄13 
D. 19⁄33 
Explanation: 
Required probability: - 
=> (prob of trans 2 white ball and prob of taking 1 white ball from 2nd bag) or 
(prob of trans 2 black ball and prob of taking 1 white ball from 2nd bag) or 
(prob of trans 1 white ball & 1 black ball and prob of taking 1 white ball from 2nd bag) 
=> ((4c2 * 7c1) + (2c2 * 5c1) + (4C1 * 2c1 * 6c1)) / (6c2 * 11c1) 
= 19/33. 
 
26. A bag contains 3 black and 3 white boxes, second bag contains 5 black and 1                
white boxes, and finally third bag contains 4 black and 5 white boxes. if a box is chosen                  
at random from one of these bags, the probability that it is not a white box is? 
A. 2/15 
B. 11/54 
C. 16/27 
D. 40/81 
Explanation: 
probability of choosing a bag=1/3 
now probability of white box from bag1=3/6 
similarly, from bag 2=1/6 
from bag 3=5/9 
so final probability of not getting a white box=1-p (getting white box) 
=1- [1/3(3/6+1/6+5/9)] 
=16/27. 
 
27. How many of the numbers x (x being integer) with 10<= x<= 99 are 18 more                
than the sum of their digits 
A. 9 
B. 12 
C. 18 
D. 10 
Explanation: 
Let the number be ab. So given that, 
=> 10a + b = 18 + a + b 
=> 9a = 18 
=> a = 2 
So 20, 21, ... up to 29 there are total 10 numbers possible. 
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